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U zer gfafafees & @@ &, FET weg EBCDIC &7 9T &9 #41 87
Ans ?(1,

et sl Fge BfSee se=isr F1F (Extended Binary Coded Digital Interchange Code)

2

TAT 950 BT TUFAT oo FT (Extended Binary Coded Decimal Interchange Code)

X 3

IIET TEAL ST TUHT = HiT (External Binary Coded Decimal Interchange Code)

p

it as=dr F183 ZeAeT == F15 (Extended Binary Coded Decimal Information Code)

Question ID : 719399263
Status : Answered
Chosen Option : 2

2 frw v et F ¥ Bvm @ w9 S
e X1 ArEsraTee 9E

v 2 e Rwew

X 3 Areds

X ggdz

Question ID : 719399259
Status : Answered
Chosen Option : 2

Q3 Fogex Fead T F T FgEas FFIE FT HFLIHAT T
Ans x-l_ ﬁ'?l'
X2 =
v @




Question ID : 719399288
Status : Answered
Chosen Option: 3

Ans X1 128
V' 256
X 3127
X 4 255

Q4 AsCll e T e g s d v Rt T & sfwaw . aoff = BT &% §Far 2

Question ID : 719399264
Status : Answered
Chosen Option : 2

Ans 1. Title Bar
& 2. Formula Bar
+' 3. Name Box
& 4. Status Bar

Q.5 Which of the following displays the address of the active cell in a Microsoft Excel worksheet?

Question ID : 719399280
Status : Not Answered
Chosen Option : --

T 87

Ans “1.

52

X a

Q.6 RiE Rrrew # o wsa 71 T o # IfFT T v = O ¥ e A9 FiF o e

TR HEeha W Tse Fow i IR faw fwew a1 79

TS Hswa W ave Foaw ¢ i @ Bewew & 97
X 3. WISA HTSHhe T SqA [Feleh il

WS HEHA T T TForeh ¢ AR ‘T e @1 g4

Question ID : 719399270
Status : Answered
Chosen Option : 2

Ans 1. 175%
X 2 500%
v 2 400%
X 4 200%

Q.7 mEwmEwE EIEEE 2016 #, FF (Zoom) SRS SiFE # 3TUGA FH T (Zoom to) FT F5 FAT 7




Question ID : 719399300
Status : Answered
Chosen Option : 2

Q-8 mgrzzraTre vede F AVERAGE () Heee & a7 & o & ¥ &l @1 a7 57 27

M X1 uE TF Tt ¥ SORET AT @ sterr B
X 2 Ug T FoAT F gHIES AT F FAterar g
V5 TE I Hedl F AT AT H Sierr g
X 4 Tg IF AET F AEF F oAt g

Question ID : 719399284
Status : Not Answered
Chosen Option : --

Q.9

o 7 @ FiF 9 FuaT Har 287

(i) FTSHIAFE TFAST H SFAS 3T I OIET =g T
HerdT|

(i) AEFETFe oA F Faerd, e 37 g 2

e e (i)
X2 aar (i) 3k 7 & (i)
X 3 I (i)
X 4 g (i) AT (i)

Question ID : 719399286
Status : Not Answered
Chosen Option : --

061 % (cache) FAN & BT Hew w7 & foow & & frwanr o= Gar Smar 22

Ans o 1 SRAM
/< 2 DRAM
X< 3 DVD

X 4 =Y 8% (Blu-ray disk)

Question ID : 719399257
Status : Answered
Chosen Option: 2




01-1 forer & @ WA WO T W A2
(i) TEwMETE TEIEEE 2016 #, ‘TS AT RBeeT w1 Neg &9 F dga @ mw #
(i) PR TERAse 2016 #H, srgfa F it Ssw F B, Insert tab > Media group 2 Video ™
Ferr FL
M e (i)
X 2 2=t (i) 3 (i)
X @ ar (i) st a2 (i)
X 4 T (i)

Chosen Option: 2

Question ID : 719399299
Status : Answered

o; 75 e & e & ¥ 99 v R F FR o A w4 & oA A il awar i
Ane X1 ofFg T (Line spacing)

V' 2. S =T EeT (Paragraph spacing)

X 3. ereg T (Word spacing)

& 4 FuT WTPeT (Character spacing)

Chosen Option : 1

Question ID : 719399274
Status : Answered

oé1 AERETE T o Il T TAEEH H cASeud & & 39T #
A 1 TarsE 1 Aufreg & arer (Slide Sorter)

X 2 @ifFa (Outline)

< 3. F@rIoT (Normal)

X 4 {fFr (Reading)

Chosen Option : 1

Question ID : 719399298
Status : Answered

0411:1; ﬁﬁm%ﬁm%mm(plattﬂs)H%Tm%’,aﬁ‘gﬁﬁﬁ%aﬂ?@?m%l
e X1 =Y BT (Blu-ray disk)

v grE B e

< 3 DVD

X 4 CD

Question ID : 719399255




Status : Answered

Chosen Option : 2

051 T # ¥ wiF °r = e 22

() T U WS 59 & S A W ¥ o3 9 3R w= i B aw e e o g
(i) &7 AEFETe I RMEad T 39 §EeW B

e FFe (i)
X2 gEr (i) 3 (i)
X 3 Faer (i)
X4 g ar (i) 3l a7 & (i)

Question ID : 719399294

Status : Answered

Chosen Option : 4

% Feger AT F VDU g1 Srar #1 VDU 7 57 Adee 2

me o AfEr sefafte Tt
v dfear e g
X 5. aftwer STt e
X « st Rroar gfire

Qu

estion ID : 719399254
Status : Answered

Chosen Option : 4

Q1 REsw v Siaw AR frew ¥ B d @ sie o e & SEREE gl & we smor
7 v

Ans (1

foeed R YR % 23T W HH HT FehaT gl
52

forTag UF & AT F FF IUAEEANT FF FEE FT FoaT g
X 3 Reg GUI &1 F918 T TahaT 2

X a

foreeg % & THT # = SITET FF U FT T 2

Question ID : 719399266

Status : Answered

Chosen Option : 3

U or F % Feafaearemt # v WY BRES AewE ¥ HS A FHar 22
Ans x1_ LAN




X 2 MAN
X 3. PAN
'~ WAN

Question ID : 719399289
Status : Answered
Chosen Option : 4

UV B F @ FiF o e @t R s 2
e X ofeew

X2 HES

v e

X 4 z1@ (DOS)

Question ID : 719399265
Status : Answered
Chosen Option : 4

YV o F ¥ FF T SRR Arred a8 3
Ans x.l_ ﬁ

X 2 5 e

v Freds

X 4 BT JEUF

Question ID : 719399261
Status : Answered
Chosen Option: 1

°1-2 e Fuat Y GIar F TR woT Ui BT § ¥ S @ Beew w5 2

(i) TEFHEFE T F vF afer J 9fFgar T w9 Fr dEw wE dEwm o Ar @
T g1

(iy T o arfermr & 9fFaat & Fg@aw T 1 ® FF A4 & AHdr g

Ans 1. (i) - 1T, (ii) - ITAT

X 2 (i) - FTea, (i) - FT

X 3. (i) - @, (i) - TTor T

o (i) - T, (i) - '

Question ID : 719399276
Status : Not Answered
Chosen Option : --




Qéz 3YLETRAT ESUhH & HEY H, HiEeaer CLl Sras e g fFar sar 87

Ans

/< 1. Command Line Interrupt (Wi‘s’ CIES] éﬂq}

v 2. Command Line Interface (FHTS o2 STHhH)

# 3. Common Language Interface (FTAe of7a= SeIhH)
X 4 Command Language Interrupt (FHTS dvas gaTee)

Question ID : 719399268
Status : Answered
Chosen Option : 3

Q2 foor # & M7 w1 feww &1 3K frwwn ¥ ol o wogw faffat & fore Rewer &2

Ans X1 9 (Shell)
X2 GUI
v 3 FAe (Kernel)
X 4 ufgexr (Editor)

Question ID : 719399267
Status : Not Answered
Chosen Option : --

Q.2 77 fahr R fiew & o ®Ea # SaH A & @ f6ar dwied #X 52 fFar Sw 8 w4 ger 2
4

Ane X gl #r mEer AT e 8¢ @ STeE)

X 2 wze farged B & =l SoEh

v &)

FIEA F Tegtel /| 7 Weele! & [T 3TEETRAT e & fow v swnT sew @
X a

9 d% HIHI e A&l ST g€ dF BISA & AT @l

Question ID : 719399271
Status : Answered
Chosen Option : 1

%2 rewrETe TEAE 2016 F e F @ #iF e S Gae A6 R
Ans o 1. MEAN()

X 2 AVERAGEA()

X 3. AVERAGEIF()

X 4 AVERAGE

Question ID : 719399285
Status : Not Answered




l Chosen Option : --

% e AEeIEITT TSN B FT GIUTH F4T Y

=AVERAGE(O, 10, 20)
Ans X1, 0

2 #NULL!

X315

v 4 10

Question ID : 719399283
Status : Not Answered
Chosen Option : --

0%2 faftee ToeaTst # 7 X & oo, Fegel A fovwar @ gefar #
K . afyerEar

X 2 FegaLfear (diligence)

2 soafy

v EE'I%?IHT (versatility)

Question ID : 719399251
Status : Answered
Chosen Option : 1

0{32 T T3eYe RAwE ¥ S T OF @ 3TN @F o9 qUEedT AT AThEd S §

Ans X 1. VDU
X 2 gie #Afeerm B
v 5 TATeT (plotter)

X 4 Swate Rex

Question ID : 719399256
Status : Answered
Chosen Option : 2

oéz feisisr 10 e & Swarel™ TooufE & wgo & fow foem & @ fh w9 &1 v fRr 1 W 37
e X SEmerT W wEr o Ruer Fere #Y
X 2 3FHeT W TEe Few H AR T BT I

X 3. TERETT 9T Fer & sa e FL
v 4




STperT W T oo Y AN ‘Tusenger fawew #r T4

Question ID : 719399269
Status : Not Answered
Chosen Option : --

Ve F Y A v R yHeT v @S 22

Ans

X

3TET U Jumelr (Database management system)

X2 R

« 3 9Trer guer (Payroll system)

X 4 T

Question ID : 719399258
Status : Not Answered
Chosen Option : --

% BrRwEE I9 aEeR FuE ganr Rwlle T marar?

Ans

X Tege
Vv 2. FIfSeET FEEE

X 3. ATSFHETFS

X 4 TETA
&
Question ID : 719399293
Status : Answered
Chosen Option : 1
Q.3 =
5 HATSHIAIYE TFOd, Toeileheld & ggza:rna:%m%r

Ans

X 1. AEwEe @E
v 2 ATEFETEe AR

X o Rega sfas
X4 e ifRE
Question ID : 719399277
Status : Not Answered
Chosen Option : --
Q§3 T AT WA ¥ ST 3T et Segea aae & o B S #
Ans

X 1. ATEFREFE TFET
X 2 ATEFIAEFE TFEY




v © ATSHIEIFE JEIET
X 4 FTEHEFE TS

Question ID : 719399297
Status : Answered
Chosen Option : 3

043 The email address ‘abecdef.gmail.com’ is invalid because an email address must have:

Ans o 1. one and only one @ character
/5 2. at most one dot (.) character

/< 3. at least one upper case letter

/< 4 one numeric character

Question ID : 719399295
Status : Answered
Chosen Option : 4

%3 ofy E #7 ASCIl #1= 01000101 & & F & ASCIl &5 &7 2em?

Ans - 1.01010110
V2. 01000110
# 3 01000111
X 411000110

Question ID : 719399262
Status : Not Answered
Chosen Option : --

Qé3 et # @ 39 °1 Fua g 272

(i) wiserE ABE FYN ¥ Hifdw = F I3 & &

(i) FET FABE FYI F T FOX S & o0 §9Re a1 War aw@ «w @R

FaT gl
e K e (i)
X 2. Fer (i)
X e g (i) AT (i)

oo ar (i) 3l T E (i)

Question ID : 719399253
Status : Not Answered
Chosen Option : --

Q.3 mAEFETe 95 F AT TEEOT (AT 35 2016) F GTAES BT w9 o TEFHEAA F HTH

7 He=T =T 8l




Ans X 1. .dotm
v 2 docx
X 3. .dcox
< 4 doc

Question ID : 719399272
Status : Answered
Chosen Option : 4

X 2

X 4

C oI ET T e T
e X www F w8 F=m F seefeis dueer ¥

WWW =1 ifaser e sag-ar garr R amar e

WWW =T qoT &5 World Wide Web (3&% 3138 39) 21
v : WWW = Fa1ffies Z.0W. & 919 2

Question ID : 719399292
Status : Answered
Chosen Option : 1

9

R s
v 2 IR sFEe
Ko 350 e
X+ gie Afgwrw

Q3 ST AT § FES W TWEE B e s W e ik mitew ae e

Question ID : 719399252
Status : Answered
Chosen Option : 4

Ans 1. left side
« 2 bottom
/< 3. right side
/X 4 top

064 In Microsoft Excel, the status bar appears at the

of the application window.

Question ID : 719399278
Status : Answered
Chosen Option : 4

Q4 et mEeETe 9% gEART & Cirl + A 33K Ctrl + U g8 &7 &7 ge71d 93917




1

Ans

F R

cEaras Fr wEfr grew TEET F viekee wT feIr Feem

X 2

Srara< &1 gt 9rsy @rEEl o seferes v fEmr =reem

X 3. Zraras @ melr mreEl ger & Seeh

o -

ST &S Tt ST WEAT Fr HSTAES T I Areem|

Question ID : 719399275
Status : Answered
Chosen Option : 4

Q.4 What will be the effect when the F2 key is pressed after selecting a cell in Microsoft Excel?
2

Ans

7< 1. The content of the cell will be deleted.
/< 2. The background color of the cell will be changed.

/< 3. The content of cell will become bold.
o 4 The cell will change to edit mode.

Question ID : 719399282
Status : Not Answered
Chosen Option : --

%L a9 & disEr sroee oo ¥ e B aitee w3

Ans

v Cirl+ O
X2 At + 0
X3 Ctrl + N
X4 At + N

Question ID : 719399273
Status : Answered
Chosen Option: 3

044 I AGHAETE TFA 2016 e AT Sar § af e F O 9 @ i9 Bnee w7 & g% g &7

Ans

X . BIEE
X2
X3 &
v g

Question ID : 719399279
Status : Not Answered
Chosen Option : --




Qé4 AEFEE THGe F 91 & 3999 §AG O7 AT ¥ S #7 B & o G ST E
Ans  BC 1. FIT

v

Ko o

X 4 geae

Question ID : 719399287
Status : Answered
Chosen Option : 1

U R & @ T T e Tl
(i) ST 9 Ak = & T TELNET &7 393eT f&5ar e &)
(i) 3eTE & J3 F°GX & P e g g
XK A () AR a g i)
V2 gt (i) 3R (i)
X 3 Faer (i)
X 4 & (i)

Question ID : 719399291
Status : Answered
Chosen Option : 4

Qb e Sar o arew v o 4w 5 A ST 1 S e e 1 w32
Ane 1. RfFeerT (decryption)

X 2 BHrsgeRE (demodulation)

X 5. 379rETT (subscription)

X 4 FArsgeIeA (modulation)

Question ID : 719399260
Status : Answered
Chosen Option : 1

U AErETe THRE ¥ X A RS # ¥ FiF & Fua Ted 22
e X RBwiee w9 ¥, TET &5 3N W@ B

X 2 TFHEr ofr Il T J1F I 3T T 2

X 3. Brlec ¥ ¥, &FAT 3T T1% 3R WET

v TR # T AR FET SEt A & Tedl

(



Question ID : 719399281
Status : Answered
Chosen Option : 4

Q§4 [ F T W g & Frogd F d wimel B ruEEng & F e, 3 o d e amn weee
g =nfge?

S
X 2 fdex
v ST
X g

Question ID : 719399290
Status : Answered
Chosen Option : 4

© o # ¥ F e gt e F47 87
Ans X 1. POP

X 2 IMAP

V3 FTP

X 4 SMTP

Question ID : 719399296
Status : Answered
Chosen Option : 1

Section : General Reasoning

1 R v et # ¥ 97 Riee 3 1 HF TE gwer # 907  FH

3 27 64 125 2
Ans X 1. 164

v 216

X 3 256

X 4 236

Question ID : 719399302
Status : Answered
Chosen Option : 2

Q.2




& TS HFIT H TAESE Ig HR HAT TET AT A

S 4 7 5 9 6

Iy

21 44 ?

Ans X 1. 63
X 2 55
Vs 75
X 4 87

Question ID : 719399318
Status : Answered
Chosen Option : 4

¥ o amgfa & P & e w9 =X

/

Ans of 1. 36
X2 38
X324
X4 28

Question ID : 719399320
Status : Not Answered
Chosen Option : --

Y o A @ T T O A s 89 @ B

Ans of1.125 - 5
X265 -4
X3 344 - 7
X4217 -6

Question ID : 719399305
Status : Answered
Chosen Option : 1

Q.5 faaryr 39X W fAFA F 20 m O H AR T@AT § R 3EF € I F IR qIA 10 m Fwwar
¥l R o aE 45 m TREs $r T mear § AR B 5 m af@er fr 3t ae # 9 e an faw o
F T AqF FT 25 m TAAT §1 T AT IR g T Tt g W E?




Ans X110 m
v25m
K32m
K43m

Question ID : 719399315
Status : Answered
Chosen Option : 2

Ans ?(1~ EE
X 2 ST
P -
(4.@

Q-6mﬁmﬁwmﬁﬁaﬁr3ﬂrﬁﬁmmﬁ§aaﬁn ST AT F FHAT TT HT Tl B
HIE 1" 3TUT T Geel I GIEENG dTe odivd © AT e g7

Question ID : 719399303
Status : Answered
Chosen Option : 4

# w0 &
170 013 290 : 7
A o117
X219
X 14
X+ 15

Q7 Frm & @ 32 ¥Ew g S Awd @ @ 59 R @ aena B TR @ gud ge wen e

Question ID : 719399309
Status : Not Answered
Chosen Option : --

Ans X1 N
X 2R
v M
X2 Q

Q.8 zaat @ FiF @ e IS TOACT F GC SR T 147 G970 B T 157 HeW F Heg F g 27

Question ID : 719399310
Status : Answered
Chosen Option : 1

Ars X1 X+Y *V-W

QI aR K+ Lot dBKLAFTEK- LAl K LA R K- Lamad t FK
LErag S ddds o Aoy agaefar @ & X, Y & Rar 22




V2X-Y+Vs«W
X X+sY-V+W
XaXsY+V-W

Question ID : 719399317
Status : Not Answered
Chosen Option : --

061 T e & % § O v ug s #1 Rw av Reedt # 95 Reew I St g@en @ 9ur s
TSR, PON, LKJ, HGF, ?
Ans X 1. EDC
v 2 DCB
X 3. GFE
X 4 FED

Question ID : 719399307
Status : Answered
Chosen Option : 1

Q1 Rr o Repedt # &, 38 weg F I S A RY A€ wsg F 79 A @Hr §| Fwow & veg F #S
1 HE Fa9 3o N & TEAATH AT S HehaT § oA 9% 3% Wi & o H SEaATe BT e B

CREATION

Ans 1. ACTION
X 2 RATION
X 3 ORIENT
v 4+ CENTRE

Question ID : 719399314
Status : Answered
Chosen Option : 4

U = ¥ B T RweT e e ¥ O F a9 wd wfafdE A g &

FLOURISH
Ans 1 EFTONRISH

X 23LOoUEIZ2H

v 3 ErONBI2H
X 4 E10NYI12H

Question ID : 719399319
Status : Answered
Chosen Option : 4

Q.1




o T A7 TETOT # ¥, 97 2 Ue fafiree gomet F s 9T g e o £ S s T Sy
wHET, S 5 g 7§, @ w8 3eor 7 difeT

6+2=40,8+3=559+4=7

ans X160
v 65
X375
X 4 80

Question ID : 719399313
Status : Not Answered
Chosen Option : --

0‘-11 BT e o oE giRT ¥ FEar 3, @ 9 e A g grerdy g # A T o A=
I F WAG F g, AU Y gFET A H ST @ AT FH TAT AT HT FAT g 22

Ans ¢17EI'E§'
X210 a¥
X3 4 3¢
X419 ag

Question ID : 719399316
Status : Not Answered
Chosen Option : --

Q1 & wet % o & oy Re aw §) 7@eT 77 @ A9 9t ¥ B @ F aeeg wuet & gew
5 It st @ 9 3 7 PR FT S R v suEt @ afhe w9 @ S e s e
IEE=ol

T e 9T §
Tt 8 == ¥

ooy
I @sf e 77 ¥
Il. geft =1 8= ¥

e X 1. Faer Ty | e &

X 2 Faer fasey || PeFerar &

v 2| 3R 1l ey e B

X4 or g ey | ar ey || S B

Question ID : 719399311
Status : Not Answered
Chosen Option : --

Q.1




© e - & = wE ¥ TR @ R
Ans x1ﬁ_\r

X 2 T
V'3 o
X 4 TR

Question ID : 719399301
Status : Answered
Chosen Option : 2

0%1 e & & e R aw # aEew w7 @ A9 o @ e @9 F aeEeg Fue A e "
fersrst #r gg 3l u7 it & & By or suat @ afds w9 ¥ S and ey
[ECcraiiECcl

=iy faferar e £
Fo foafear AfFer 1

GO H
. F5 S afrw §
Il. o wfFear foatear #)
A ) 3t 1 Bt e e B
X 2 Fae Ty | Fwear 2
Xagar sy | 3k 7 & T 1| P B
X 4 Faer ey || e g

Question ID : 719399306
Status : Answered
Chosen Option : 2

Q.1 falr e amo7 &, 'GREED’ & JUHHG' form =mar &1 &1 34 e o7 & ‘FAIRY’ & @/r foram sem?
8

Ans X 1. HDLUA
X 2 IDLUZ
V'3 |IDLUB
< 4 IDLUA

Question ID : 719399308
Status : Answered
Chosen Option : 4

Q.1




GJMP : MPSV : : HKNQ : ?

Ans 1. PRUW
X 2 SVXZ
# 3 NPRT
v+ NQTW

e 7 & 97 ResT 94 S & ST weE ¥ 3 T wEEUT § oW B @ e vew ® §

Question ID : 719399304
Status : Answered
Chosen Option : 4

CEmEEET g
Ans X1. FHIT
v B
X 3 ot
X4 AT

Question ID : 719399312
Status : Answered
Chosen Option : 1

Section : General Hindi

O R & et S ger s w7 T i
At X Red sTememeT B B

X o faedlr & greft a9 el

v o ST =g, T g o)

X4 SHET g, FET o g

Question ID : 719399334
Status : Answered
Chosen Option : 3

VO # T @ W FT o a8 3
Ans x1m
X 2 FJa
W 3 TEA
X4 T

Question ID : 719399329
Status : Answered
Chosen Option : 2




o F Fe o v w2
s X g®

K2 geel

v o gfer

X4 s

Question ID : 719399324
Status : Not Answered
Chosen Option : --

Y e 7 ofefeSe g
Ans o1 3 + AOA
X2 39 + A9
X3 39 + 7949
o 3d + Jd99

Question ID : 719399321
Status : Answered
Chosen Option : 1

Y R # ¥ W W T e R

A 1 I T @Rt SR

X 2 Jg & Fr FES B

X o FFEN W T FHA AN g HopdT|
X+ g gfafee @ & 371 @ B

Question ID : 719399332
Status : Not Answered
Chosen Option : --

¥ rsear F FiT T v=T 2
Ans xl ﬁT
X2d
v odr
X4 HT

Question ID : 719399327
Status : Answered
Chosen Option : 4

Q.7




‘TSR HH TER T OHAT 82

e efEarae

X 2 gegaEH

X s gTEFgaTTs
X 4 STaaTIS

Question ID : 719399335
Status : Not Answered
Chosen Option : --

¥ omfy F BT ar 9w
Ans 1 g

X2 a9
<3y
Kaq

Question ID : 719399326
Status : Not Answered
Chosen Option : --

X st
v grod
X = aieArT
<4 grefag

Y REddsdR A e FET

Ans

Question ID : 719399331
Status : Answered
Chosen Option : 2

X . g
X2 HT
v 5 REhEY
X 4 HAT

% e 9% ST e T F Bw v o= AT &

Ans

Question ID : 719399328
Status : Answered
Chosen Option: 3

Ans

U B A AT T e agT 7




X 1. &9
2 gd

X 4 EHA

Question ID : 719399323

Status : Not Answered
Chosen Option : --

% Te=ga # wia o T §7
Ans ?(1@"';

Question ID : 719399322
Status : Not Answered
Chosen Option : --

% ‘IR # faeia gem
Ans o1 arely
X2 fadm
V5 T
X+ wEe

Question ID : 719399330
Status : Answered
Chosen Option : 1

% TET BT FEEY # wE HY &
Ans X1 Rrswer glT

X 2 HF T

X 3. AT TEaT

v o dgd-nlﬂ?rlT LAl

Question ID : 719399333
Status : Answered
Chosen Option : 4

Y e F i T oo SR R




Ans x1_ m

Question ID : 719399325
Status : Not Answered
Chosen Option : --

Section : General English

AFFECTIONATE
Ans x 1. IOVi.Ilg

X 2. warm
/< 3. friendly
v 4 cold

Q1 Select the most appropriate ANTONYM of the given word.

Question ID : 719399343
Status : Not Answered
Chosen Option : --

Ans 3 1. despensary
« 2 dispensary
/< 3. dispansary
/< 4. dispensery

Q2 gelect the correctly spelt word.

Question ID : 719399345
Status : Not Answered
Chosen Option : --

IMPERIAL

Ans X 1. decorative

/< 2. extravagant

/< 3. ornamental
+ 4 royal

Q3 Select the most appropriate synonym of the given word.

Question ID : 719399341
Status : Not Answered
Chosen Option : --




Q4 Select the most appropriate option to fill in the blank.

She is officer in the local branch of Canara Bank.

Ans X 1. the
« 2 an
/< 3. one
X4 a

Question ID : 719399336
Status : Not Answered
Chosen Option : --

Q5 gelect the INCORRECTLY spelt word.

Ans X 1. laurel
/< 2. launch
« 3. laundery

/5 4 laugh

Question ID : 719399346
Status : Not Answered
Chosen Option : --

Q6 Select the correct passive form of the given sentence.

How much money do you save in a year?
Ans 3 1. How much money is being saved by you in a year?
+ 2. How much money is saved by vou in a year?
/< 3. How much money has saved you in a year?

/< 4 How much money has been saved by vou in a year?

Question ID : 719399350
Status : Not Answered
Chosen Option : --

Q7 Select the most appropriate option to fill in the blank.

The cattle ~ in the field since morning.
Ans 1. grazes
« 2. have been grazing
/< 3. are grazing
/< 4 had grazed

Question ID : 719399339




Status : Not Answered
Chosen Option : --

@8 Select the most appropriate option to fill in the blank.

India has rich resources
Ans o 1. Although, vet
/< 2. Hardly, when

X 3. As, so
/< 4. Both, and

Question ID : 719399340
Status : Not Answered
Chosen Option : --

Q9 Select the most appropriate idiom to fill in the blank.

Letus rest
Ans X 1. for good
2 for a while

/< 3. in the long run

/< 4 on the whole

before we start walking again.

Question ID : 719399348
Status : Not Answered
Chosen Option : --

Q.1
0

PLEAD

Ans X 1. allow
/< 2. explain
W 3 appeal
/X 4 argue

Select the most appropriate synonym of the given word.

Question ID : 719399342
Status : Not Answered
Chosen Option : --

Q.1
1

We water these plants every day in the morning.

Ans x-]_

Select the correct passive form of the given sentence.

These plants have been watered by us every day in the morning.




X2

These plants are being watered by us every day in the morning.
/< 3. We are watered by these plants every day in the morning.

« 4 These plants are watered by us every day in the morning.

Question ID : 719399349
Status : Not Answered
Chosen Option : --

Q.1 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part
2 from the given options.

You need taking’ some guidance/ in chemistry.
Ans 1. some guidance

< 2. No error

/< 3. in chemistry

+ 4 You need taking

Question ID : 719399347
Status : Not Answered
Chosen Option : --

Q.1 : o
5 Select the most appropriate ANTONYM of the given word.

HAUGHTY
Ans 1. conceited
/< 2. snooty

/< 3. overconfident
+ 4 humble

Question ID : 719399344
Status : Not Answered
Chosen Option : --

041 Select the most appropriate option to fill in the blank.

The villagers  to extinguish the fire when the fire brigade arrived.
Ans - X 1. tried
< 2 have tried
W 3. were trying
/< 4 are trying

Question ID : 719399338
Status : Not Answered
Chosen Option : --

Q.1




5

We are not a hurry. You can take your time.

Ans X 1. for
X2 to
v 3 in
X 4 at

Select the most appropriate option to fill in the blank.

Question ID : 719399337
Status : Not Answered
Chosen Option : --

Section : Technical

Q1 power factor is

Ans X 1. real power = apparent power
/< 2. apparent power/real power
+ 3. real power/apparent power

/< 4. real power * apparent power

Question ID : 719399392
Status : Answered
Chosen Option : 3

* B # ¥ T 9oR #3997 DC oA 9 FE T §7

e X riRte
?(2;:|Eﬁiﬁ'ﬁq‘
V'3 o o
X4 mifggs T =iy

Question ID : 719399469
Status : Answered
Chosen Option : 3

Q3w o7 F sTATH R IS SoEaE Ol FT GTaY $heel & &7

Ans K 1. 50%
v'2 98%
X 3 30%
X 4 75%

Question ID : 719399467
Status : Answered
Chosen Option : 2




* v P gFa o B wfOwan o @ g b
Ans X110 m

v25m

X38m

K46 m

Question ID : 719399461
Status : Answered
Chosen Option : 2

Q5 BIS ¥ 3R, TR IR s F AT A F F7 F 2 TR
Ans X 1. 5.0 m

v215m

<3100 m

<480m

Question ID : 719399383
Status : Answered
Chosen Option: 1

Q6 The unit of magnetic flux is

Ans X 1. Tesla
/5 2. Henry
W 3. Weber
< 4 Weber.Meter

Question ID : 719399388
Status : Answered
Chosen Option : 3

Y MMF wm ot Er B

A o magnetomotive force (FvaerAIfeT wa)
X 2 magnetomoving force (HTRCIAIET HIE)
< 3. magnetomotor force (ﬁ?ﬁlﬁ?ﬂa ‘Cl-fFlff)
X 4 magnet moving force (As=T Hﬁ?T wY)

Question ID : 719399390
Status : Answered
Chosen Option : 1

Q8 5 %7 urR 3R ol o ¥ Bw, Fae F F T TR
Ans x-]_ I




X2 A=
v g 8=

X 4 EEe
Question ID : 719399492
Status : Answered
Chosen Option: 3
Q9 Fre ther areh Tl yume &, wgger arEe FaFrT H 3T A8t @ §
e 1 geer
X 2. sEer
X3 mATE
P ATy

Question ID : 719399400
Status : Answered
Chosen Option : 1

Q61 If a synchronous motor is running over excited, the power factor will be

Ans  of 1. leading
X 2. unity

X 3. zero

X 4 lagging

Question ID : 719399453
Status : Answered
Chosen Option: 1

Q.1 BIS % @R, B off FEUTET #, 7 FF W H#OwIH dees T (319) ¥ 310 78T g

=fgwl

Ans X 1. 1%
X2 2%
V'3 3%
X 4 5%

Question ID : 719399378
Status : Answered
Chosen Option : 3

% arafEr gumet &, e @war 3t srae S Tl

A 1 e St

X 2 drar seefeg I

X 3 deer Frafer




X 4 oeRsr #T HRAET-FRET I

Question ID : 719399377
Status : Answered
Chosen Option : 1

Ans X 1. Coil pitch < Pole pitch
/< 2. Colil pitch > Pole pitch
/< 3. Coil pitch = Back pitch
« 4 Colil pitch = Pole pitch

Q; What is the relation between coil-pitch and pole-pitch in full pitch winding?

Question ID : 719399460
Status : Answered
Chosen Option : 2

A o105 KVA & 110 KVA
/< 2 50 KVA & 500 KVA
#3100 KVA & 10000 KVA
#4100 KVA & 1000 KVA

% AR W, S fege Scue FIT H aTHaT 2 &

Question ID : 719399477
Status : Answered
Chosen Option : 2

%' DC TeT TRT fFay 9FR F A 2
Ans X 1. 4 9T

e X & FE F e
X2 o8I e B FH
w3 g

v T

X 21 9hR
X3 2 g&T
v 4 3 gERIT
Question ID : 719399418
Status : Answered
Chosen Option : 4
Q;ﬁgﬁﬂmﬁﬂ?mﬂﬁﬁfaﬁruuﬁ,ruﬁgmﬁﬁc grar g




Question ID : 719399399
Status : Answered
Chosen Option : 4

Qf The total resistance in an AC circuit is called

Ans 1. Capacitance

/< 2. Reactance
« 3. Impedance

/< 4 Inductance

Question ID : 719399401
Status : Answered
Chosen Option: 3

U AT PRET T W FH W TS 27

A X1 G F FEaeT FT 9T 5
v
FeFel A ACSR FEael & ¥OT & & 3009 a0 +

X 3 IF FEFT T AT FH
X4 FHH AT T T9RT

Question ID : 719399482
Status : Not Answered
Chosen Option : --

°é1 Which of the following are diamagnetic materials?
Ans % 1. Tron, silver and gold

« 2. Bismuth, antimony and gold

/< 3. Platinum. aluminium and silver

7< 4. Tron, nickel and cobalt

Question ID : 719399387
Status : Answered
Chosen Option : 2

% weew (R FRE gl

Ans ?(1
Aol wgfster fagga arr / fswan wgfeer fega amr
52
wgean Fgfeer faega o / sftean v fega g
v 3




e wfeT Rege on Avhge wgise Rege
X 4
Sofiepa wgfSeT faggd anr / #gaas wfSeT Rega arr

Question ID : 719399380
Status : Answered
Chosen Option : 4

4z AT F AT PeE-aEs A frar JEr B
Ans 11@3-\'{'31'

X 2 EE 9

X3 o

X 4 FafEeT

Question ID : 719399497
Status : Answered
Chosen Option: 1

Qéz fommat, s 3R w8 O G F o 7 Rege 3 & g TeiEear W e & g
fega smfd s a7 femm amm &)

Ans X190 FreR
v'2 110 S
K 3 220 e
X 4 440 TS

Question ID : 719399352
Status : Answered
Chosen Option : 2

Q.2 An intermediate switch is used in stair case wiring where one lamp is controlled from
3

Ans  of 1 three or more places
/< 2. any place
/< 3. Two places
/< 4 one place

Question ID : 719399491
Status : Answered
Chosen Option: 3

V o B A & Sy o e o Y e
Ans X 1. 500




v 2. 200
< 3400
X 4300

Question ID : 719399448
Status : Not Answered
Chosen Option : --

Y ama &, R f y=res T

e X1 megs wRfEE w1
v 2 3= SR TS
X 3 FH 9@ e
X4 FegE T FRE

Ans of 1. 50 Hz

# 2 5000 Hz

2 3.1000 Hz

< 4 20 Hz

Question ID : 719399394
Status : Answered
Chosen Option : 1

062 o T Hiex &7 T SeT WU Aied & T W AT & e ¥, S@ & HTERTFAT BT ¥

Question ID : 719399486
Status : Answered
Chosen Option: 2

v

U N MARA YUTST F ST 4 3
Ane X1 frex, Ou, ofear, g@r

X 2 gar, 9@, 99, o9, g il
X s fa=, @iee, e, T A

gt AR FeAT Beaer, 9fedn, SR 99, e Sae, STl

Question ID : 719399485
Status : Not Answered
Chosen Option : --

Ans X 1. Silver conductor
/< 2. Carbon conductor

Q.2 . r. = . .
¢ Which of the following types of material is used in Solar Battery?




' 3. Semi-conductor

/< 4 Lead and tin conductor

Question ID : 719399408
Status : Answered
Chosen Option : 3

s X1 Y 3= Ao
V' 3T e
X 3 FegH aee
X 4 BET drees

Qéz e AT A, 650 VA 33000 VF dw FrdmAr A

FaT ST g

Question ID : 719399363
Status : Answered
Chosen Option: 1

Ans 1. Double pole
« 2. Four poles
/< 3. Three poles
/< 4 Single pole

063 In three-phase supply system. which type of earth leakage circuit breaker is used?

Question ID : 719399385
Status : Answered
Chosen Option: 1

ans X1 R.O.
X2 3%
23 T
v RBftees

01.3 grar vfds o ¥ soegese TR e @ F v 9reT @ 39T R S g

Question ID : 719399407
Status : Answered
Chosen Option : 4

Ans X 1. Compound Wound Generator
/< 2. Cumulative Compound Generator

' 3. Series wound Generator

/< 4 Shunt wound Generator

Qé3 Which of the following generators has zero terminal voltage while running on NO load?




Question ID : 719399413
Status : Answered
Chosen Option: 2

Y toor T H RS AR SET B
e X1 3 % et

V' 2 B Fees

X 3 1/3 & e

X 43 & Fee

Question ID : 719399397
Status : Answered
Chosen Option : 4

% SeTeT W suEET H, R IR W e e aser €7

Ans X1 70%
X2 10%
v': 90%
X 4 50%

Question ID : 719399466
Status : Answered
Chosen Option : 3

Y 2fees AC amafd &, RMS 7= g

Ans 1. 0.637
X 2 0.101
< 3 0.888
v 4 0.707

Question ID : 719399395
Status : Answered
Chosen Option : 1

23 N ¥ M e Rremae AT # FEEET A g ¥
Ane X 13000 °C

X 2 2800 °C

V3. 2200 °C

X 4. 2000 °C

Question ID : 719399465
Status : Answered
Chosen Option : 4




93 afm A= (L s@em) MCB & F gl Zo § g AT Sar 2

A o1 el wfde
X 2 3z afee
X 3 AT afee
X 4 DC TfFe

Question ID : 719399381
Status : Answered
Chosen Option : 1

%Y o9 Ay oy R &, ar T 2ty

Ans X1 1%
X 2 50%
V2 100%
X o T

Question ID : 719399444
Status : Answered
Chosen Option : 4

QfBIS#a@mmM#rmﬁaﬁm et i g B

1 qot oE figga OmT # 1/5000
X 2 quT os fagga amT @ 1/100
X s qur o1s fega 9w #r 1/2000
X 4 qoT Wirg faega amr #r 1/3000

Question ID : 719399375
Status : Answered
Chosen Option: 1

064B|sé:34§ﬂw,ua:mszﬂm$3trqﬂwﬁ,3ﬁmm3‘z T e a8 B =R

Ans X112
v 210
X315
X4 8

Question ID : 719399374
Status : Answered
Chosen Option : 2

Q.4




' goafdT (3eeRaeR) i 2 F
Ans of 1 KVA

X 2 KWA

X 3 KWH

X 4 Watt

Question ID : 719399471
Status : Answered
Chosen Option : 1

% DC Hrex #r feew F FT s I THEAT 2

Ans X 1 NVC T a8 a7
X2 FET A (AF Foo1g) & d” & 3M9H H d&a
X 3 ®eE AR AP (@A) FT Fad FedT
V' o Bres T1 FEET Faeed (P &) F 3dT

Question ID : 719399415
Status : Answered
Chosen Option : 4

% BIS ¥ HoER, B ¥ T F T B FFAIHA FAE g =gy

Ans X115 m
V2275 m
X310 m
X420m

Question ID : 719399372
Status : Not Answered
Chosen Option : --

Q.4 7% 100 A/ 5 A 3T & CT (i ZE®ER) 5 A & TR #ex & 337 1 afy e (§fFm)
4 3 A% & s W & e

Ans (1100 A

X210 A

V'3 60 A

<430 A

Question ID : 719399437
Status : Not Answered
Chosen Option : --

% DC TR ¥ feid 9T F1H T B

Ans




X3 @ T T
X 2 oo & FTH

v o B F Ragga gredT wor & Fus
?(4.?533%!’%’-‘1??

Question ID : 719399414
Status : Answered
Chosen Option : 3

VRssrdram ¥
Ans o 1186000 m/s

X 2. 086000 m/s

# 3. 286000 m/s

X 4 386000 m/s

Question ID : 719399359
Status : Answered
Chosen Option : 4

°7'4 Porcelain is a/an

Ans  of 1. insulator
/< 2. semi-conductor
/< 3. conductor

/< 4. super conductor

Question ID : 719399361
Status : Answered
Chosen Option : 1

e K AT T

v 2 FieAiEE TEd
X 3. ZrHEE TsT
X 4 STEhe TET

Qé4 A JiT 9T, U %t are AT & FE g #r aEfEer @ g R S 22

Question ID : 719399457
Status : Answered
Chosen Option : 4

Q.4 :
o The body of a DC generator is made up of

Ans X 1. insulated material




« 2. cast iron or cast steel
/< 3 aluminum

/< 4 laminated core

Question ID : 719399411
Status : Answered
Chosen Option : 2

Ans 1. 750 W
v'2 250 W
X3 500 W
X 41000 W

065 TF U7 A5 ATl TEGER #, a9 & &7 1000 Watt 1 AT #1s TR &7 T w0er &Y

Question ID : 719399426
Status : Answered
Chosen Option : 2

Ans of 12410 £ 5% Q
X 21420 = 10% Q
X3 7450 + 5% Q
X 4 3410 + 20% Q

01.5 afg @ & aegen A, e, 50 AN GAET H HH A § T SiEd Sea Aol AR F#a1 gem?

Question ID : 719399370
Status : Answered
Chosen Option: 1

Ans ?(1- aﬂ? @F‘_
v s o

X g8 T

o= F Y B A T FFT geY oET 2T 87

X s feaT Teass oA

Question ID : 719399405
Status : Answered
Chosen Option : 2

Ans X1 A= 2
v2A=2
X3 A=P

TwmEtud, @Ay




X4 A

4

Question ID : 719399487
Status : Answered
Chosen Option : 2

% OCB = Qo &7 &1 §7?

A"« 1 Qil Circuit Breaker (3Taer Tfhe #3)

# 2 On load Circuit Breaker (3 &1 e F7)

X 3. Off Circuit Breaker (3% e 1)

# 4 Over Load Circuit Breaker (301&T =5 @fdhe FF7)

Question ID : 719399481
Status : Answered
Chosen Option : 1

5

QS vaar-trer T IfEET T e F7 guiy e

A X 1. T arafer @ smer &
X 2 e aEiET & AR A
X3 TEIféeT FaNET & WA H
v o FeIfder arafEr B gEer H#

ﬁgsrgan%|

Question ID : 719399446
Status : Answered
Chosen Option : 4

% CFL & quT &9 &1 372
Ane X 1. complete filament lamp (FFeie fremae 3)
v 2. compact fluorescent lamp (FFtFE FaIHE o)
X 3. common filament lamp (FAT Themde =)
X 4 contact fluorescent lamp (Fladee TGS =T)

Question ID : 719399462
Status : Answered
Chosen Option : 2

.5 5 : >
% DC ST A HEIEET FHT FT F1A &2

A of 1. AC deesT @Y DC SteesT 3 adere

X 2 AC &I & DC T H a0




X o g & Fafya w5
X4 aify = Tafa e

Question ID : 719399410
Status : Answered
Chosen Option : 2

°55 TF 1200 m 9 & 60 O F gfadeyr &1 240 FHer IR F wfaier S 7o F1i

As of 112 Q
X215 Q
X310Q
K4200

Question ID : 719399368
Status : Not Answered
Chosen Option : --

°é5uﬁ;50hm¢aﬂ9ﬁﬂ%wmﬁ§$§v%,a¥5mm grem

Ans X 1. 5 Ohm

X< 210 Ohm
V2 15 Ohm
/< 4 20 Ohm

Question ID : 719399499
Status : Answered
Chosen Option : 3

L I g T WO AT F N F G T & A FHHT ATy FT N2
A X IR & T g S

X 2 I TR AT g A

v 3 aifg amedr @ et

X o =i # FIS TREA AT gl

Question ID : 719399439
Status : Answered
Chosen Option: 3

°1-6 e & @ Fws A Faw & WRE QAT TEE & F @ G e e

A o wafea G
X 2 PVC
PSR ]




X4 83

Question ID : 719399364
Status : Answered
Chosen Option : 2

Qé6 Fogeitoes Ael # YT Tyt (27F) Ve e A e g (@) v @ dww % R s

ST fhaT ST £7

A X o R ER
X 2. e amEfde
X o gerfier e
¢ 3T

Question ID : 719399454
Status : Answered
Chosen Option : 4

YDoCcET A FIURBF TS @ B
Ans X1 Sl

X o TG

'3 3=

X 4 FeTH

Question ID : 719399419
Status : Answered
Chosen Option : 3

Q.6 300 vV &A= Fir I F JrecHeT FT ST (HfFM) 40 V T, SfFT Hew Taeear B 30 V

T &, aF drees wemis ($ifEer) Fr A Fi
Ans of 1. 4V

K240V

K312V

X430V

Question ID : 719399435
Status : Answered
Chosen Option : 1

Q.6 In staircase wiring, the minimum number of two-way switches used in a cireuit is/are
5

Ans X' 1. one
v 2 two
X 3. four
X 4 three




Question ID : 719399382
Status : Answered
Chosen Option: 2

Qéf’ The pressure that pushes electrons around a circuit is called
Ans 1. temperature

« 2. voltage

/< 3. frequency

/< 4 resistance

Question ID : 719399360
Status : Answered
Chosen Option : 2

Y o Regy 3o TIN & TEEE A S 22
g e

X2 g g

X e g

X 4 uFe-geiagh

Question ID : 719399475
Status : Answered
Chosen Option : 3

Vama o F, seEAS § @ ygeT S S 8
e X

X 2 TogARTH

v ° BIEPR FHTET

X 4 drerer

Question ID : 719399431
Status : Answered
Chosen Option : 3

°é6wqﬁﬁzaﬁﬂamuﬁgéﬁmﬁ@wwm%?

Ans  of 11280
X 21100
# 3.1200
< 41000

Question ID : 719399404
Status : Answered




l Chosen Option : 1

Y EfE F SafEes R #r i s gl

Ans 1. 50 Hz
v'2 60 Hz
X 3 20 Hz
X 4100 Hz

Question ID : 719399480
Status : Answered
Chosen Option : 2

@7 Percentage of tin and lead in soft solder is

Ans 1. 209% and 80%
< 2. 80% and 20%
X 3. 40% and 60%
v 4 60% and 40%

respectively.

Question ID : 719399362
Status : Answered
Chosen Option : 3

Qé7 TF 4- Tl JTeT JeAE T (Heelaed) 1500 RPM W =il 18T 2| Jeamafay & ¥gfed . @l

Ans X130 Hz
v 2 50 Hz
X 3 40 Hz
X 4 60 Hz

Question ID : 719399470
Status : Answered
Chosen Option : 2

YV e § Y g Aoy oy o9 ¥ 9w F Rear smar 32

M o e
X 2 et
X gl
X 4 s o

Question ID : 719399498
Status : Answered
Chosen Option : 1

Y sfeR @ yEfRe ofmw w2 A




Ane X120 °C & 80 °C
X 2320 100 °C
X30°C ¥80 °C
v+ 32°C @88 °C

Question ID : 719399496
Status : Answered
Chosen Option : 4

Ans X 1. 9oT A
X 2 giaad A
X3 9 Hex
v & gegaTed AT

% Ol Hier T gAET T ¥ [T v wafeer R &

Question ID : 719399455
Status : Answered
Chosen Option : 4

K e A
X 2 FraEE AT

v 2 DC @it AT
X 4 9iT AT

Y Feur (Ywe) F & B GRE A H1 99 B o §2

Question ID : 719399421
Status : Answered
Chosen Option : 1

Ans o1 ST
v
X 3 3mer
X 4w s

°§7mmﬁwmsﬁtaﬁﬁmwaﬁm&mmm g

Question ID : 719399429
Status : Answered
Chosen Option : 2

% wheR seF T gEEr I o Smar §




Ans 1. FITETAT WeRTl cTFEUT
X 2 FTUTAT FeRTer caIEa
V'3 TSATTE GeRTer SHEEAT
X o foeme & g HT Jerr cgaE

Question ID : 719399468
Status : Answered
Chosen Option: 3

°é7 A repulsion start induction motor is a

Ans 1. shunt motor

« 2. single-phase AC motor

/< 3. series motor
/< 4. DC motor

Question ID : 719399447
Status : Not Answered
Chosen Option : --

U8 drar ofim & F e F ¥ g gewcenEe F wAeT R S 32
e X e FeinTsE

X 2 FrERTE v

v o T (BeYE) Hewge TS

X 4+ mifzTas Foss
Question ID : 719399403
Status : Answered
Chosen Option : 2
.8
% DC #Arex T@RT F I ¥ fBrw BT = B

A . uRfEe e @ efa w=
X 2 Frez F TR gfoky & 3fE ==
X 3 HHER FEfEeT 9fery & &7 F
X 4 997 EMF &I &F Fl

Question ID : 719399420
Status : Answered

Chosen Option : 1

Q8 Femedr geer cumEwr &, g@er & % wge zar forafya e €
e X sp fEaw




v gx &=

X3 DP f&a=
X4 g BT
Question ID : 719399464
Status : Answered
Chosen Option : 2
% TRA] e seIEs FAT H S T
Ane X rrer
X 2 arer
v o faTs 3R aftms
X 4 g
Question ID : 719399476
Status : Answered
Chosen Option : 2
U8 safeeen Yo o & AT, ST ST A g He $r 2k ¥
Ans of 1. 2200 HP
< 2. 500 HP
#< 31000 HP
< 4 2000 HP

Question ID : 719399452
Status : Answered
Chosen Option : 1

058 Te 3-%5, 50 Hz aTelr ST Hed 1500 RPM 9T @eT T&T §1 WieT T TEaT fendell greir?

Ans 1. B
X228
v 4
X412

Question ID : 719399445
Status : Answered
Chosen Option: 3

Qés The rotor and the stator of an induction motor are made of

Ans o 1. Jaminated core
/X 2. copper core

/< 3. steel core




/< 4 aluminium core

Question ID : 719399438
Status : Answered
Chosen Option: 3

U s Ak W, I TERE F RO HET F QT 8% e
" o freffRa HP &1 &g T
X2 foreift@ HP & sy

X3 iR HP & &=
X o T HP & &= T

Question ID : 719399441
Status : Answered
Chosen Option : 1

Qés U AeA-at, 4 9rel, 50 Hz aTelr godenifers Hie & goderel T fhaer g 22

Ans X 1. 750 RPM
v 21500 RPM
# 31000 RPM
/4 3000 RPM

Question ID : 719399456
Status : Answered
Chosen Option : 2

Y grEmER R e e TR ¥ 3 aer &2
Ans {1 ﬁma.’g%?r.g.

X 2 srufee aERT @

X o grufde 3R afadraes aEfr aer @

X 4 e HT &S &

Question ID : 719399424
Status : Answered
Chosen Option: 1

Q9 segtt & gRam F 3T &, W WoT A @R wnted @l ¥l
M4 R FET @
X2 & =T &

K ERSsa Eer o




v o TEee-ther DOL et &

Question ID : 719399450
Status : Answered
Chosen Option: 3

Q.9 i) w i
1 JI (FIOR) P OAG] FET _ E
Ans ( 1929
X 2 45
X 3 40
X 4 35
Question ID : 719399358
Status : Answered
Chosen Option : 1
Qé9 A A W, DOL FeTeT F1 FaeT Fr -t F W7 AT F A I & e B Fmr g

Ans X 1. 25.0 HP &=
X2 350 HP T+
X3 15.0 HP =
v+ 50 HP a=%

Question ID : 719399440
Status : Answered
Chosen Option : 4

Y T TEEER T ¥
A X1 arET ErEEER

X 2. 3Tar THEHT

X 3 RY-Z34 THBHT

v 4 BO-31T IEEET

Question ID : 719399428
Status : Answered
Chosen Option : 2

049B|S#34§ﬂn,wa1gzmﬁ3®maﬁg ¥ 3O A& g TRl

Ans K1.100 W
v 2 800 W
X 3 500 W
X< 4 1000 W




Question ID : 719399376
Status : Answered
Chosen Option : 2

L 2 vy (GreeE) % qedwa %ﬁ'@ﬂ@'%ﬁwﬁ?
" dete, s AR B A WEE @ =TRT

X 2 Faer gfed 3R R §AE g A1)

X 3 FHaer M AR FR FAS g T

X 4 Faea 7T 3T vergEEier Sees @A g =gl

Question ID : 719399472
Status : Answered
Chosen Option : 1

069 TAE ATAT TR SHIEA & T, 240 V #Hr FeomE & Pw 4V F e aew e 2

ans 1. 80
v 2 60
X 40
X 4100

Question ID : 719399463
Status : Answered
Chosen Option : 2

Q;’ Which of the following is an integrating instrument?
Ans X 1. Wattmeter
« 2. Energy (KWH) meter

< 3. Voltmeter
/< 4. Ampere meter

Question ID : 719399432
Status : Answered
Chosen Option : 2

Y wafET F Tw gy F Bow w4 oo 2
M X1 SrmYer #

v T SR & frem

X 3 FEFeT F T

X 4 JEhrg gaTg Hr fERr

Question ID : 719399412
Status : Answered




l Chosen Option: 1

S Fae & SIS & R, T (eFE) e TEe @ 5 A
Are X v 3k Rt

X 2 =iEr AR amEr

X3 R 3t 9=

v ¢ Tegfataas R amEr

Question ID : 719399365
Status : Answered
Chosen Option : 4

% 3T TEET F Faw TEAER 9T Y &2
Ans 1. 4
X286
V32
X410

Question ID : 719399459
Status : Answered
Chosen Option : 3

% SewmEfT & e g w2
¥R T Rege e 9o
X 2. ofET & e

X 3. Femad (vd) e Faw

X 4 e F T Ras

Question ID : 719399474
Status : Answered
Chosen Option : 1

0 FERTRT § F FF W@ segere gy wiew 87
e XK e

v R

X 3 aE #eT

X 4 FedHEER

Question ID : 719399488
Status : Answered
Chosen Option : 2




\

% RCC wrer #r oot wEwT & f3am =imar
As o 111 kV TF

<2 33 kV ¥ 66 kV

#3686 kV & 220 kV

K411 kV & 33 kV

Question ID : 719399494
Status : Answered
Chosen Option : 1

V! =t (3= aife) vl & v frw v & AT 1 s SR S 3
A o ST 9 9 T AT

X 2 B0 BF & TN H IX

X s aferTee o9 9 F e

X 4 e e gR FT X

Question ID : 719399473
Status : Answered
Chosen Option: 1

% ofFT FREF (TR ) W ARFAm AT ¥
L Sp—

Ko Uqh

X3 e U FH

X o sorE T O

Question ID : 719399393
Status : Answered
Chosen Option : 1

% In AC winding, pitch factor is
Ans o 1. winding pitch / pole pitch
/< 2. pole pitch / winding pitch
/< 3. winding pitch — pole pitch
/< 4. back pitch / pole pitch

Question ID : 719399458
Status : Answered
Chosen Option : 2




o

X 2 gmer, g 3T B
X 3. oIer, FTem 3T g

MK e, e, 3R e

4 e, Jrem 3T Frer

%-71 BIS % @R, e #e (DC) & 3 &, ualers, FonerAs AR T8y axR & &1 #1s FAw

Question ID : 719399371
Status : Answered
Chosen Option : 2

Ans X 1.1000 W

% TF Tfrer snem afFa (@ TR)

% =EY e gl

Ans o1 FHATH

X 2 HfOwaE
X faR
o U

v'2 746 W
< 3500 W
X4 7355 W
Question ID : 719399500
Status : Answered
Chosen Option : 2
%-91 AC BffFe &, 3R Tt 3R FiT F @ & F IR 90° ¥, 7 g aRw 2t

Question ID : 719399489
Status : Answered
Chosen Option : 2

Ans 3 1. 4-point starter
X 2. DOL starter

‘3'(: Three contractors and one timer are used in which starter?

/< 3. Auto transformer starter
+ 4 Automatic star — delta starter

Question ID : 719399442
Status : Answered
Chosen Option : 3

11 2

Q.1 111%:1.5V#G@aa”@mﬁg@’g@imwmﬁﬂﬁa%ﬁnﬁ@gﬁta‘rﬁﬁiﬁraﬁm




Ans o 1. 6.0 V
X2120V
X375V
X490V

Question ID : 719399409
Status : Answered
Chosen Option : 1

Ans X 1. Iron losses

/< 2. Eddy current losses
« 3. Copper losses

/< 4 Hysteresis losses

Q.1 H H
1, 1 transformers, which types of losses change according to load?

Question ID : 719399430
Status : Answered
Chosen Option: 3

Ul of TR F T H07 1 w@ear # A & e B o g
Ans 51 45°

X< 2 80°

v'3 90°

X 4 30°

Question ID : 719399353
Status : Answered
Chosen Option : 3

A X 1. e DC amafe

X 3 FIEA I
X 4 FFer AC HTf

V2 AC 3R DC gt amfe

gzmﬁgm{ﬂﬁTmWHm F v S o1 @ g

Question ID : 719399433
Status : Answered
Chosen Option: 1

Ans 1. 3.0 mm
v 215 mm

(:51 PVC gz #al a/afeT & ma &, PVC F32 7a & gaaw A @ =iw




K3 25 mm
K4 20 mm

Question ID : 719399493
Status : Answered
Chosen Option : 2

% - ATer FIEY T H, I T&A Fal 37 @l 87

Ans

x1.3ﬁ;rg~ara:mm1'm

X 2 NVC 3T NVC & ga=aR

X 3 NVC & TAAET

v 4. fTET T & yEer #

Question ID : 719399443
Status : Not Answered
Chosen Option : --

Q.1

X 2 e (Jaw) & TS

X 3 et (Jaw) T FIHEEY

X 4 Feat (Jaw) Fr TEE

1 FH ¥ T, Isw (Vice) & a0+ 9T AR w4 gl
A 1 e (Jaw) T TR

Question ID : 719399354
Status : Answered
Chosen Option: 1

% BT TEEER # P &7 A8 aar &7

e X1 BT ZrEwER
X 2 U T TEEET
X 3. T TEFEER
v 43S TEGET

Question ID : 719399422
Status : Answered
Chosen Option : 4

9 TFE TER F ZEEER F TART dedd Faemser & v B wer §2

e X1 R9-EET IR




X 2 HTSEeRE A TR
V'3 TS TEETHT TFR

X 4 B9-3T GFIT
Question ID : 719399427
Status : Answered
Chosen Option: 3
Q.1 3 .
5o FOS dR H gfarererar 3 oA T =T

A 1w, R
X 2 AYOH, YO
X3 3=, AEOH
X 4 AEOH, 3=

Question ID : 719399484
Status : Answered
Chosen Option : 1

3'11 TAI/CTC bR F fTmnas = 1 g % e g o s #

Ans X aTer TEEY H oY are M
X 2 Iy FIEET 7 S arer 1T

v 3 e ® SR aTelr 3T

X 4 o verdt $r 3w § wee e A

Question ID : 719399351
Status : Answered
Chosen Option : 3

% faee s=faes wfde &, a7
Ae X FH ¥ FH TF
v 0T

X3 uF
Ko FT 8 TF

_ @ar gl

Question ID : 719399396
Status : Answered
Chosen Option : 3

% TEFET F A-oiE FE F AT
Ans X 1.15% T 20%

@ El




X2 10% & 15%
v': 2% & 5%
X 4 5% & 10%

Question ID : 719399425
Status : Answered
Chosen Option : 3

3-; oY 3T & A aed ¥ e e F @ e gme & g S e
Ans X1 Gl

v EEE

X 3 grer

K4 drger

Question ID : 719399495
Status : Answered
Chosen Option : 2

% T 3R T It & @ B AT T &2
M REgeaT wT @ 90°

X 2 foegd w7 ¥ 360°

X 5 RregdT ¥ & 180°

XK 4 Taegda &= & 120°

Question ID : 719399451
Status : Answered
Chosen Option : 3

%'; In B-H curve, B represents the
Ans X 1. magnetic flux density

#< 2 reluctance
/< 3. magnetic flux

+ 4 magnetic field

Question ID : 719399389
Status : Answered
Chosen Option : 1

9 & et T U &, AR Fe F @ e HR g B
Ans x1' 900
X 2 180°




X< 3 B60°
v 4 120°

Question ID : 719399398
Status : Answered
Chosen Option : 4

Q1 oo & & Fia o e Fad F LA (HY Foe) F TA F GG T F 60 g2y fr g

28
K 1 e TRy SeToT
X 2 fEaTar adeor
X 5 O IR q&Tor
v« FE (Murray) o7 w707
Question ID : 719399366
Status : Answered
Chosen Option : 2
% MCB #r gof & gl

A"« 1 miniature circuit breaker (AfFT=R afee =)
X 2. maximum circuit breaker (ﬁﬁmﬂ'ﬁ Hihe ﬁm)
X 3 minimum current breaker (ATHET FT )
& 4 minimum circuit breaker (RTHAR T 77

Question ID : 719399379
Status : Answered
Chosen Option : 1

% SF, affe ot fr aefer deew _ @dr ¥
Ane X122 KV & 66 KV

K21 KV & 22 KV

V'3 36 KV & 760 KV

A 4220 V& 1100 V

Question ID : 719399479
Status : Answered
Chosen Option: 3

% BIS ¥ ¥UR, B ¥ o= 9% & F=S gl =R

Ans X 1.225 m
<2090 m




V315 m

X< 4075 m
Question ID : 719399373
Status : Answered
Chosen Option: 3
% ST S & T Gl sEiet wiE # #Ew HER gl
Ans X130 em % 30 cm x 1.3 mm
X280 cm x 8 cm x 2.18 mm
340 cm x 40 cm x 8.5 mm
v+ 60 cm x 60 cm x 6.35 mm
Question ID : 719399384
Status : Answered
Chosen Option : 4
%gm#s@aaaméamﬁma:a@mm(w & R BT 2l
Ans of 1. ZIT
X 2 ZST
X3 ZFT
X 4 ZAT

Question ID : 719399402
Status : Answered
Chosen Option : 1

%, e & @ O S F HE GEE & R S AT g 27
Ans ?(1.::|ﬁ-'|7:|:.lﬁa'ﬁ AT
X 2 fEea T "
v 3 9oT AT
X 4 DC Erir e AT

Question ID : 719399449
Status : Answered
Chosen Option: 2

Ans x1' Ia_lse
x 2 e,
s L=1,
K4+ g

% 0= FeR, §F w1 () 21T




Question ID : 719399417
Status : Answered
Chosen Option : 3

1 e # ¥ FiF W 3T v SRR & ga-fhe #F @ 9 S
Ans (1' m

Question ID : 719399357
Status : Answered
Chosen Option : 1

% gEwER # g F e s W s & e F s B s g2
e X1 @ dree &

X2 3T os R

v 3 Feges R

X4 ofr v et

Question ID : 719399423
Status : Answered
Chosen Option: 3

U AT (SFIAASIR) HOFAT __ gern gt & fovw fmam S §
e X1 gy 3w wEE

v 2 giger

X3 geamEfaT (3eetee)

X4 TTETRA

Question ID : 719399478
Status : Answered
Chosen Option: 3

% HF F P ¥ 3ER, Sees has s g §7

Ans X1V =1/R
X2V=I+R
v:V=IxR
X4V=]-R

[ Question ID : 719399367




Status : Answered
Chosen Option: 3

% TE =T sTUa & Fea o gaed g 2|
A o1.0.75 B 1.0%
X218 2%

X3 0.1%0.5%
X415 & 25%

Question ID : 719399356
Status : Answered
Chosen Option : 1

AR FFEE AT F
A o1 0 & 36 SWG

<20%T 12 SWG

<30T 22 SWG

<4 0T 42 SWG

Question ID : 719399355
Status : Answered
Chosen Option : 1

Q.1 &7 & yomehr F dgfe it seglea ar F A F R e & ¥ e vefy e s e s 32
42

s X . we-are HieT gey
X 2 dra-are Arex 9=
V'3 gr-are #er 9=t
X 4 Trr-are Her vy

Question ID : 719399490
Status : Answered
Chosen Option : 2

Y qHm Em e A ¥ e R s
" K e

X2 FIT

Vo arfy

X 4 dree

Question ID : 719399434
Status : Answered




Chosen Option : 3

44

Ans 1.+ 10%
v 2 +5%
X 3+ 10%
X 4 +20%

Q-1 YWhat is the tolerance indicated by a gold stripe on a colour-coded resistor?

Question ID : 719399369
Status : Answered
Chosen Option : 2

45
Ans X 1. chemical effect
/< 2. lighting effect
W 3. piezoelectric effect

/< 4 magnetic effect

Q1 A thermocouple instrument works on the

Question ID : 719399436
Status : Answered
Chosen Option : 3

3gmﬁﬁﬂm(@mﬁmmﬁﬂm # B e #

e K AT # e

v 2 MC e & 2R

X s FAreg # e
p s

rsfEer & s Fr @fdsr (wastage heating in winding)

Question ID : 719399391
Status : Answered
Chosen Option : 4

371 ‘What happens when a lead acid battery is charged and discharged by high rate current?

Ans X 1. Corrosion
/< 2. Sulphation

+ 3. Buckling

/< 4 Sedimentation

Question ID : 719399406
Status : Answered
Chosen Option : 4




% ACSR & gt &9 #ar ¥?
Ans X-L
Aluminum Current Steel Reinforced (Tegfiaa #e e REAHIEs)

v
Aluminum Conductor Steel Reinforced (Togfa=H F3el Tl ReTmres)

X 3
Aluminum Conductor Solid Reinforced (Tedf@ies #s#el oS NSAHIES)

X a

Aluminum Conductor Super Reinforced (Tegffia &sael g RNeawes)

Question ID : 719399483
Status : Answered
Chosen Option : 2

b FE T mm o Fa war §
X dedm e

2 =T Fr TR T

K 3 hTT 3HHEE TeeT

X4 gEHT 8T

Question ID : 719399386
Status : Not Answered
Chosen Option : --

U e W 1 ST R & R B 3 ¥ P W T S e e £
s 1 Mﬂﬁ%m

X 2 &9l

X 3. FEET 9

X 4 arfeer

Question ID : 719399416
Status : Answered
Chosen Option: 1




